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Part A

Answer any five guestions,
Each question has weight 1

Explain indifference curve approach. What are the assumptions ?

State the law of diminishing marginal utility. What are ils limilations 7

Describe the clasticity of substitubion with example.

Dieseribe Producer's equilibrium.

Describe Leentief static model

What are the limitalions of the input-output modsl ? )

Discuss the equilibrium and stability of the selution of a Linear diflference equalion.

Explain consumption model.
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Parl B

Ansiwer any five questions.
Each question fas weight 2.

Show that [T = ax® + by® + ¢ always has a single stationary value which is a minimum or maximom |
or a saddle point according as ‘o’ and ‘B’ are positive, negative or of opposite signs.

Explain the Lagrangian multiplier method te maximize the utility function subject to the budget
constraimnt,

Prove that producer’s equilibrium is obtained when the iso-cost line is tangent to the iso-product

CUrve.

Explain Cobb Douglas product function, Describe any twe applications of Cobb Douglas product
function,

Turn over
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13. Consider the following Cobb-Douglass production function Y = 60K¥L?", Find the missing values

14,

16.

AT,

18.

15,

20,

in the table
K L Y
G4 8 =
128 16 =
| 182 24 —-

Explain Leontief's dynamic model with a real life example. Explain how matrix algebra is nseful
in studying this model,

Solve the difference equation 8y, , | + 4v,— 3 = 0, y, = V2 and determine the behaviour of the

solution seguence and caleulate the first five values of the solution sequence.

Disense the method of solving the first arder linear difference squations with constant coafficients.

Explain the behaviour of it's solution SEQUERCE.

Lal
{h)
(a)
(b}
{a)

{b)
(a)

(b)

(5 x2=10)
Part C

Answer any three guestions.
Each question has weight 5.

Explain Revealed preference theory of demand with examples.

Find the stationary values for the function U = 2x + y — 2% 4 3y — 32,

Draw iso-guants for the fuiction [ (x, v) = 2% + 32,

Find the Marginal rato of technieal substitution for a Cobb-Douglas produetion function.

Find the marginal rate of technical substitution for the production function £ (x.y)= A+ J}

State and prove Euler’s theorem

Find the output for the input multiplier (A) and final demand (F) given by :

04 06 02 80
A={03 0 01|andF=|60]
03 01 02 40

Explain input-output analysis.




3

21. {a) Technology matrix for the input-output model is given by :

Sector 1 gector 2 | Final Demand
Sector 1 140 40 af)
sector 2 40 180 80
Primary inputs 20 80
find the output of each sector.

{(b) Explain the importance and applications of Input-Output analysis in Economics.
22. (a) Solve the difference equationy, + 3y, _; - 2=10,

{b) Explain lncome-Consumption-Investment model.
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